

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

1101565

Form ACO-1 June 2009 Form Must Be Typed Form must be Signed All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License # 31171	API No. 15 - 15-163-20757-00-01
Name:Continental Operating Co.	Spot Description:
Address 1: 1221 MCKINNEY STE 3700	N2_NE_NW_Sec9Twp10SR19East
Address 2:	4950 Feet from North / South Line of Section
City: HOUSTON State: TX Zip: 77010 + 2046	
Contact Person: Greg Mitschke	Footages Calculated from Nearest Outside Section Corner:
Phone: (713) 209-1110	□ne □nw ☑se □sw
CONTRACTOR: License #32128	County: Rooks
Name: Rome Corporation dba Western Well Service	Lease Name: Baldwin Well #: 3
Wellsite Geologist: n/a	Field Name:
Purchaser:	Producing Formation: Arbuckle
Designate Type of Completion:	Elevation: Ground: 2212 Kelly Bushing: 2212
☐ New Well	Total Depth: 3873 Plug Back Total Depth:
☐ Oil ☐ WSW 📝 SWD ☐ SIOW	Amount of Surface Pipe Set and Cemented at:Feet
Gas D&A ENHR SIGW	Multiple Stage Cementing Collar Used? ✓ Yes □ No
☐ OG ☐ GSW ☐ Temp. Abd.	If yes, show depth set: 1585 Feet
CM (Coal Bed Methane)	If Alternate II completion, cement circulated from:
Cathodic Other (Core, Expl., etc.):	feet depth to:w/sx cmt
If Workover/Re-entry: Old Well Info as follows:	SX CITE
Operator: John P Jennings	
Well Name: Baldwin #5	Driffing Fluid Management Plan (Data must be collected from the Reserve Pit)
Original Comp. Date: 11/21/1977 Original Total Depth: 3780	, ,
☐ Deepening ☐ Re-perf. ☐ Conv. to ENHR ☑ Conv. to SWD	Chloride content:ppm Fluid volume:bbls
Conv. to GSW	Dewatering method used: Hauled to Disposal
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Permit #:	Operator Name:Continental Operating Co.
Dual Completion Permit #:	Lease Name: Stamper "C" License #: 31171
SWD Permit #:	
ENHR	Quarter NE Sec. 32 Twp. 8 S. R. 17 East West
GSW Permit #:	County: Rooks Permit #: E26,843-0003
8/30/2012 11/12/2012	
Spud Date or Date Reached TD Completion Date or Recompletion Date Recompletion Date	

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY
Letter of Confidentiality Received
Date:
Confidential Release Date:
☑ Wireline Log Received
Geologist Report Received
✓ UIC Distribution
ALT I I II Approved by: Deanna Garrison Date: 01/04/2013

Side Two

1101565

Operator Name: Cor	ntinental Operati	ng Co.		Lease N	Name: _	Baldwin		Well #:3			
Sec. 9 Twp. 10	s. R. <u>19</u>	. East	✓ West	County: Rooks							
INSTRUCTIONS: She time tool open and clo recovery, and flow rate line Logs surveyed. A	sed, flowing and shes if gas to surface t	ut-in pressui est, along w	res, whether sl ith final chart(s	hut-in press	sure rea	ched static level	, hydrostatic pres	ssures, bottom	hole temp	perature, fluid	
Drill Stem Tests Taken		Yes	s 🗸 No			og Formatio	on (Top), Depth a	nd Datum		Sample	
Samples Sent to Geological Survey		☐ Ye:	∏Yes √ No		Name			Top		Datum	
		☐ Yes ☑ No		Anhydrite Arbuckle		1589 3766			-623 -1554		
		es No									
List All E. Logs Run; Cement Bond Gama Ray Neutron											
			CASING	RECORD	√ Ne	ew Used					
B	Size Hole		t all strings set-c	conductor, su Weig		ermediate, produc Setting	tion, etc.	# Sacks	Type	and Percent	
Purpose of String	Drilled		(In O.D.)	Lbs./		Depth	Cement	Used		Additives	
Production	7.87	5.50		14.0		3820	common	250	10%sa	alt,2%gel	
<u></u>		Ţ	ADDITIONAL	CEMENTIN	IG / SQL	JEEZE RECORD)				
Purpose: —— Perforate —— Protect Casing	Depth Top Bottom	Type of Cement		# Sacks Used		Type and Percent Additives					
Plug Back TD Plug Off Zone	0-1584	60/40		440		6%gel					
Flug On Zone	-		<u></u>								
Shots Per Foot			D - Bridge Plug ach Interval Perf				acture, Shot, Cemer mount and Kind of N		rd	Depth	
											
		· · · · ·					.,				
TUBING RECORD: 2	Size: .875 sealtite	Set At:		Packer At	:	Liner Run:	Yes 🗸 No				
Date of First, Resumed	Production, SWD or Ef	NHR.	Producing Meth	nod: Dumping		Gas Lift (Other (Explain)				
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf	Wat	er E	bls.	Gas-Oil Ratio		Gravity	
DISPOSITIO	ON OF GAS:		M	METHOD OF	COMPLE	ETION:		PRODUCTI	ON INTER	VAL:	
Vented Sold	Used on Lease		pen Hole	Perf.	Dually (Submit /		mmingled mit ACO-4)		····		

Quality Well Service, Inc.

324 Simpson St. Pratt, KS 67124

Invoice

Date	Invoice#			
10/26/2012	C-683			

Bill To	
Continental Operating	
P.O. Box 52	
Hays, KS 67601	

	P.O. No.	Terms	Lea	se Name		
			Ва	Baldwin #3		
Description		Qty	Rate	Amount		
Common		515	15.50	7,982.507		
Poz		175	9.50	1,662.507		
Gel		28	20.50	574.001		
Salt		21	13.00	273.001		
5 1/2 Centralizer		7	50.00	350.007		
5 1/2 Basket		1	190.00	190,007		
5 1/2 AFU Float Shoe		1	275.00	275.007		
5 1/2 LD Piug & Baffle		ı	225.00	225.007		
5 1/2 DV Tool		1	2,800.00	2,800.007		
2 Stage		1	2,700.00	2,700.001		
Handling		739	2.10	1,551.90		
08 * sacks * miles		20,000	0.08	1,600.00		
LMV		40	2.00	80.00		
Pump Truck Mileage		40	8.00	320.00		
Discount		2,554.8	-1.00	-2,554.807		
Discount		532.79	-1.00	-532.79		
Discount Expires after 30 days from the date of the invoice			0.00	0.00		
Baldwin #3			1			
Rooks Co.		!				
			1			
		ļ. <u> </u>				
Thank You for your business!		Subtotal		\$17,496.31		
		Sales Tax	(6.3%)	\$912.06		
		Total		\$18,408.37		

5739

QUALITY WELL SERVICE, INC.

Home Office 324 Simpson St., Pratt, KS 67124

Heath's Cell 620-727-3410 Office / Fax 620-672-3663

Rich's Cell 620-727-3409 Brady's Cell 620-727-6964

	Sec. Twp.	Range	County	State	On Location	Finish			
Date /0-25-/-2			Roks	15		8:30 -9:30			
Lease Buldwin	Well No.	3	Location Zurich	115 25 161	W Sinta	1			
Contractor (O Tools		and desire	Owner		3.71-0	197 75			
Type Job 2 - Stage ni	ne Job		To Quality W	To Quality Well Service Inc					
Hole Size		You are here cementer an	by requested to rent d helper to assist ow	t cementing equipme vner or contractor to	nt and furnish				
Csg. 5"/2 .	Depth	3932	Charge Con	of rectal		o work as listed.			
Tbg. Size	Depth		Street						
Tool	Depth	A AND DE CONTRACTOR	City		State				
Cement Left in Csg.	Shoe Jo	oint	The above wa	s done to satisfaction a	and supervision of owner	agent or contractor			
Meas Line	Displace	e 9366/an	3966/ Cement Amo	unt Ordered 250	SY COM	10% Salt			
E	QUIPMENT			0/406%981		10,000			
Pumptrk No. 8		Cady	Common 5			在一种			
Bulktrk No. 10		Weale.		75					
Bulktrk No.		Mile	Gel. 28						
Pickup No.			Calcium			The second second			
JOB SER	Hulls		1 - ke ₁	28. 28. 14. A					
Rat Hole			Salt 2/			~			
Mouse Hole	13.		Flowseal						
Centralizers			Kol-Seal	The state of the s					
Baskets Insert	@ 38/7		Mud CLR 48	Mud CLR 48					
DN or Port Collar Se +	@ 1580	4	CFL-117 or C	CFL-117 or CD110 CAF 38					
Pan SHS of 51	/z # cas	sing onel							
anding st		7		Handling 739					
7		41.0	Mileage 40						
St Circulation w	1. th. Dum	o truck	A SEALL.	FLOAT EQUIPME	ENT				
Hooked up and m	ired 250	sriom 10°	6 30 4 Guide Shoe						
Yogel - Shut down	nonce was	her pump	Centralizer	7 - 51/2					
and the's clean - F	Baskets	Baskets 1 - 51/2							
73 bbl 6- 420 - Lift	-ing pressu	rd @ 700	OC AFU Inserts						
Hurringded 10 1700	Float Shoe	1-51/2							
lour held - home	Latch Down	Latch Down / - 5 1/2							
DO: 40. 15MIN - HOD	Diaped Ked us ons		J-	A THE STREET		Experience of the second			
	, ved 440 s			1-5/2 01	V Tool	Partie and the second			
the + down dod was		- disa 281				7.7			
& 1120 - plury liende	Mileage 40								
1					Tax				
-			4	1 11.1		Marie Marie San San Carlot San Carlot			
cement Did circula	ite to su	ir face !	Thaile	t 404:	Discount				